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State of Artificial Intelligence, ~ 12 years ago

RoboCup Competitions Classic NLU Example

AThe ate the banana becauseit
was hungry.

Question: What is it ? YISk or the banana?
Correct answer:

Deemed very challenging for Al systems at the time



https://www.youtube.com/watch?v=YPYVL5FpS6s

Robotics vs NLU

Boston Dynamics0 Most Recent Robot Stanford CoreNLP Coreference Resolver
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Classic Example:

AThe ate the banana becauseit
was hungry.

What is it ? YIS or the banana?

[Mention) ™" ™" \M]
.
The monkey ate the banana because it was hungry.
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Why is NLU Hard?

A The Classic Dual Problem of Language Ambiguity and Meaning Variability

Vast amount of Knowledge

@ Q The same meaning can be

Meaning Variability \ expressed in many ways

/ \ .
Language (é g \Q Amblgylty The same expression can mean
\'C) different things and be ambiguous.
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Language Understanding In
Eventful Contexts



Human-level Understanding
In Context



Context: At the grocery store

A Customer: Black beans?

A Clerk: Aisle 3.




Context: Serving food

A Woman: Black beans?

A Man: Yeah, | love it.

Example Credit: Philip Cohen and James Allen



Context: Serving food

A Man: Black beans?

A Woman: Oh, you don like it?







Event-centric Context Modeling:
The Case of Story Comprehension and
Story Generation

With a focus on commonsense reasoning



: j The changes of the world are caused by
the effects of events.

Understanding events through language
or vision, and predicting what happens
next, is one of the most demanding
areas in Al.




Story Understanding

Narrative Structure Learning
Narrative Intelligence

Script Learning




